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a1= 5 — 1.250
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m = a1 X SL = 1.250 X 24 = 30.0 N/mf

roT m 30.0 N/mf

(3)KkEAXA L FEE(W/C) m = -18.4 + 27.6 X C/W
W/C = 27.6 = (30.0 + 18.4) X 100 = 57.0 % = [60% (_-[R{H) ]
SW/C = 57.0 %

(4) B K& (W) WTHEOFEREIZELY W = 168 keg/m
(5)HAM AL FE(C) C =W = (W/C) X 100 = 158 = 57.0 X 100 = 277 kg/m
Cv= C —+ 2 = 277 -~ 3.04 = 91 L/m
(6) 7558 (A) A = 4.5 % X 1000 = 45 L/md
(7)BMHBEME(G) YUILLOFEFKICEY NEIFF = 0.656 m/m ERER = 62.0 %
Gv = 0.655 X 1000 X 62.0 = 100 = 406 L/m
Glv = Gv X 60.0 % = 244 L/m Gl= GIvXEELEE = 244 X 2.71 = 661 kg/m
G2v = Gv X 40.0 % = 162 L/m G2= G2yXFEWEE = 162 X 2.63 = 426 kg/m
(8) HALE# & (S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 700 = 300 L/m
Slv = Sv X 40.0 % = 120 L/m S1= SIvXHEHEE = 120 X 2.76 = 331 keg/m
S2v.= Sv X 60.0 % = 180 L/m S2= SoyXFEWEE = 180 X 2.57 = 463 kg/m
(9)MBMEK(s/a) s/a = Sv + (Gv+Sv) X 100 = 42.5 %
(10) BN IR FnAl & (Ad) Ad = C X I = 277 X 1.000 % = 2.77 kg/m
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